Aoknoelg AumtAd OAokAnpwparta
Fevika Xwpia

Na umoAoyloTtouv Ta SUTAA oAoKANpwHATA:

1. [[(42y* —12x)dA

2. [[Z=dA
3. [[x3dA
4. [[x*(y—x)dA

5. [[sin?xdA

yla 0<x<4 kot (x-2)*<y<6
yla 0<x<1 kot 0<y<x?
yla 1<x<e kat 0<y<Inx
yta 0sx<1 ko X2<ysv/x

yla -1t/2<x<m/2 ko 0<y<cosx

Ap. lwavvng Towmepidng
EAIN T, MAnpodopikrig AINAE
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1 [ f(i_2)2(42y2 — 12x)dy dx = [ [14y® — 12xy]%,_,y2dx = [, (3024 — 72x — 14(x — 2)° +
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5. f_nﬁz focosxsinzxdy dx = ffﬁz[y sin? x]§°5*dx = f_né/zz cosx sin® x dx = [—%sin?’ x]_n/z =§
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